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1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Use the visual model to solve each problem.

1) 0.6 × 0.1 = 2) 0.9 × 0.6 = 3) 0.2 × 0.8 =

4) 0.1 × 0.3 = 5) 0.7 × 0.9 = 6) 0.5 × 0.8 =

7) 0.7 × 0.1 = 8) 0.6 × 0.8 = 9) 0.1 × 0.3 =

10) 0.6 × 0.9 = 11) 0.5 × 0.4 = 12) 0.3 × 0.2 =

13) 0.8 × 0.8 = 14) 0.4 × 0.1 = 15) 0.6 × 0.6 =

Answers

1.

6⁄100 = 0.06

2.

54⁄100 = 0.54

3.

16⁄100 = 0.16

4.

3⁄100 = 0.03

5.

63⁄100 = 0.63

6.

40⁄100 = 0.4

7.

7⁄100 = 0.07

8.

48⁄100 = 0.48

9.

3⁄100 = 0.03

10.

54⁄100 = 0.54

11.

20⁄100 = 0.2

12.

6⁄100 = 0.06

13.

64⁄100 = 0.64

14.

4⁄100 = 0.04

15.

36⁄100 = 0.36
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